N of reco track vs dxy

0.95F = -r---in

;
|
0 5 10 15 20

0.

N of

=20 -15 -10 -5

track dxy (cm)

reco track vs dz

=30 -20 -10 O 10 20 30

track dz (cm)

[N of associated (recoToSim) tracks vs dxy

true tracks

N of associated (recoToSim) looper tracks vs dxy

true tracks

Ratio

L F g
50 P
st g
10 g
102 E_
10
lg—'
[24 . [24
050 =15 -10 5 0 5 10 15 20 09556 =15 10 -5 5 10 15 20 051510 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
F kY g2
- [=) Q
4 g IS
i 2 2
i g g
10°F E
10°F
10F
i A
E PSP e
1.U9) o y il
T : g
o . o
- - - it - - : | " -
0¥35 20 -10 0 10 20 30 09320 -10 10 20 30 0¥35 20 -10 0 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


